=

oo

% 87 gL ALY
D 9 9] opis

oFp=1,3,9 ofth
@ 18 9] 9k 1,2,3,6,9,18 o|tt.
® 9 £} 18 9] HhFoFg= 9 ot
@ 918 o] HE FOF

oF T 50] HejFo
2t

@)o ot 18 o] FoFso] A 2 Aolet.

® 9 9} 18 9] ZoF59] A FHolFoFs 9 9 oF
Zonzg 3rjjo]ct,

oo} 749}




2.

lleS
I
=
R
olo
o
rir
o
o
I
i)

>

d ol vetd wf, ol 7 7k

5
®-14 @8 -2 @31 @)

D |4 =
@ 18 =

5| 5
@Hza
@ 3.7
® 2

et Gl 7S 77k A2 dYighol Mg A2 e s

2 olt}.




ol
XS
ol
o8

ol
Nfo

op

® 3>1

@ -2<0

® -5<1

@—2 <=3

@ —4<-2

1l
_._._AJO

of
el

IS

D-2>-3=




w| ot

D -

o o

ol w

P

St goto] 1 o] sl

®
ol e
©
|
w| ot




o2 5 5a ot T2 A2

@a+a+a+a+a @ axaxaxaxa
® o @ 5+a

® 5+a

B

Da+at+a+a+a=5sa
@axaxaxaxa=a

@5+a:§
a




@ 0.5x+1 o Xyl G
2 2x
@ x(x+1) @ —-2x2+x ® 2x-3y+1
ORONERE) 2)9, ©,®
® O 6,6 @ @, 0,6
® 9,0,0,6,6

2o B4} Gk 4.2 thgAlo] oh v} P44 02 4715t

oFL
1o -

J2eg 271 9l A2 9, 0, @




=

S 4° 2 YErd A2

oo

D 4x5 @ 4+4+4+4+4
@ 5x5x5x%x5 @4x4x4x4x4
® 5x4

4x4x4x4x4 =45 o]t}




Fe7bo4 o, o

310
o 1

A9 B9 2

= A
T

8.

o|J
BN

@ 7 @9 @ 10 ®)12

@ 5




7z, Azl Bolrt
7PgArE ] AT 2

g o, L Abo] o] 74229

D 14m @)16m ® 18m

R |
g Aoe g oy gt i RSl
BIEA] LS Alofof g}, ofu], b 1

252 M5 A7 shelx

@ 20m ® 22m

2 Afo]o] 7HA L x 2t B o,
48 =xx0O, 32=xXA

x £ 487 329] HH g0l BR
48 =24 x 3, 32 =2°
x=2%=16 (m)




10. "= o=g 74 A9E 7e2g 715 Aol duapt 7k 2

A4 ME A || B4 A
Hamzle(c)|l 7 | 10| 11 | 14 | 6
FA7I2(C)| -8 | -1 1 3 | -6




11. -8+6-12+ 1725 & AAsHH?

® 22 @—22 ® -11 @ 11

® 4

B

-8+6-12+17-25

= (-8) + (+6) + (-12) + (+17) + (-25)
= (-45) + (+23)

= -22




@ (-1)xb<0

@® (-1)xa>0

(@)axb<0

@ ax(-1)xb<0

® (-2)xaxb<0

W%.;
11t
®O O M.T Ho

O o
2eq1
HEl o

o o n]_o_u
[HI O © O
TT
<F <F 2
ﬂmo,.%.OATMﬂ
or o7 X
00 ofp OT -
o o7 O R
A A or or

R RO A o




13. the % A9] Adto] £ A& N2H?

D 2x3x% =52 @ 16y? =+ (—4) = 12y?
1
®20y+§:10y @ (10x-15)+5=>5x-10

(@)—12(% 1) = -2y—12

B

@ 2 x 3x% = 6x2
1
@ 16y? + (-4) = 16y? x <_é_l> = —4y?
1
® 20 ® =20y x 2 = 40y
1
@ (10x-15) =5 = g(10x—15) =2x-3

® -12 (g+1) — 9y_12




14.

—(~4x-3) +4(3x +1) & Aot Ae W, x o] A2t

o2

D7 @ 12 ® 16 @

FAN =4x+3+12x+4=16x+7
x 9 Alg= 16, FFF2 7 o] B2 2 23




15. t}

oo

ZF 4

ol

@72:23X33

@ 23 x 32

L5

9

(&)

G A2




24 o 71§ B 4GS a & Fole] oW AA5 b o] AFo] HES
F ol 0t b o) G

® 2 @ 6 ® 9 @12 @)s

B ~

24 x a = b?

23 x 3 xa=b>
a=2%x3=6
23x3x2x3=2%*x32=0p2
b=22x3=12
Sa+b=18




a £t 12 9] Fujrt 12 9] et T o, o2 5 a 9] Fhol 2 5
Sl= A2?
@ 2 @ 4 @ 6 @ 12 ®)24

a &+ 12 O] Fui57t 12 o vt Zohe A2 a 9F 12 9 &
FHF7} 12 o] 2= Rol 2=

a 9F 12 ° HAFuS7 12 7F 42 7] 9alME o 7 12 9
oFg-7} E|ofof gttt

24 =12 9] kTt ol g 7} 24 7 E AL 24 @ 12 9] F| A&
SHlE 24 ©|B 2 24 7} ofY




18.

Odd:79,9:619 @d:69%,9:519
®@Eg:69,9:419 @ dd:5%,9:51
@d:590:47

8

Z9] M4 70 7 56 9 Fo-FeFso|tt
T0=2%x5x%x7,56=23xT

wabA Z9] e 2x 7 =14 ()

ZH ool £=70+14 = 5( ), AT Y £ 56+14 = 4(
)it




19

~
e |
© Il
Il —
=~
a4+
P —
| |
o &
=) [N
I +
- —
+  +
~— ~—
N
)
L L

(@)(+3.2) —(-4.1) + (-7.3)

‘ ® (+3.2) + (+4.1) + (=7.3) =0




20. Al ZFa, b, coll ot axc=5 ax(b-c)=-25 4 W, axb 9
;e

@-20 @-5 -0 @®10 61

B ,

axc=5, ax (b-c)=-25 A
axb-—axc=-25°Rg
axb-5=-25
axb=-25+5=-20




